ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnagusocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Mo Bonpocam npoaax v noaaepXku obpallanTecs:

MBaHoBo (4932)77-34-06
Mxesck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBgo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

INuneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

Hab6epexHble YenHbl (8552)20-53-41

HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
Hosocubupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

Mepwmb (342)205-81-47
PoctoB-Ha-[loHy (863)308-18-15
PsizaHb (4912)46-61-64

Cawmapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapatosB (845)249-38-78
CesacTononb (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
Craspornonb (8652)20-65-13

EnuHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

SECTION 9

CONNECTORS FOR Bus SYSTEMS

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnsb (4852)69-52-93







SAL CONNECTORS OVERMOULDED — PrROFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz/ETHERNET 10 GBIT/S
Nomenclature

=]

238 SONEC®



SAL M8x1 CONNECTORS OVERMOULDED — PrRoFiBus DP/
INDUSTRIAL ETHERNET 100 MHz/ETHERNET 10 GBIT/S
Product specification

Contact CuZn / CuSn

Contact plating Nickel plated, gold plated
Contact carrier TPU GF, UL 94 / PA, UL 94 / PPA
Overmould TPU, UL 94, grey

Sealing FPM

Coupling nut/-screw GD-Zn, Ni

Shield sleeve CuZzn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101 X-coding: IEC 61076-2-109
Current rating IEC 61076-2-101 X-coding: IEC 61076-2-109
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque: 0.6 Nm

Technical subject to change without notice.

CONEC® 239



SAL M12x1/7/8" CONNECTORS OVERMOULDED/
CAN-Bus/DEeVICENET

Nomenclature

=

240 CONEC®



SAL M12x1/7 /8" CONNECTORS OVERMOULDED/
CAN-Bus/DEeVICENET

Product specification

Contact Cuzn

Contact plating Nickel plated, gold plated

Contact carrier TPU, UL 94 / TPU GF, UL 94 / PA UL
Overmould TPU, UL 94, grey

Sealing FPM

Coupling nut/-screw GD-Zn, Ni / CuZn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

7/8" M12x1
Rated voltage IEC 60664-1 IEC 61076-2-101
Overvoltage category IEC 60664-1 2
Rated voltage IEC 60664-1 2.7kV
Current rating IEC 60512-3 IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque: 0.6 Nm

Technical subject to change without notice.

CONEC® 241



SAL M12x1 Y-SpLITTER — PROFIBUS DP

Nomenclature

CONNECTION I | | | | | | || | ‘ |

ALLOCATION

242 CONEC®



SAL M12x1 Y-SpLITTER — PROFIBUS DP

Product specification

Contact CuZzn

Contact plating Nickel plated, gold plated
Contact carrier PBT GF, UL 94
Overmould Thermoplastic elastomere
Sealing FPM

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101
Current rating IEC 61076-2-101
Insulation resistance IEC 60512
Degree of pollution IEC 60664-1
Degree of protection IEC 60529
Mating cycles IEC 60512-9a

Technical subject to change without notice.

CONEC® 243



SAL M12x1T CONNECTORS FIELD-ATTACHABLE — PROFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/
Nomenclature

SIATLL-1121BL-[RIK] JCl4]-1S)/]150

=]

244 CONEC®



SAL M12x1 CONNECTORS FIELD-ATTACHABLE — PROFIBUS DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/
Product specification

Contact CuZzn

Contact plating Nickel plated, gold plated
Contact carrier PA6, UL 94

Housing GD-Zn, Ni

Clamp-/screw contact Stainless steel, nickel plated
Screw termination CuZn / Ni, Sn gal.

Cable sealing Elastomere

Sealing FPM / NBR

Coupling nut/-screw GD-Zn, Ni

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101  X-coding = IEC 61076-2-109
Current rating IEC 61076-2-101  X-coding = IEC 61076-2-109
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque: 0.6 Nm

Technical subject to change without notice.

CONEC® 245



SAL M12x1 Sockets — PRoFiBus DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/S
Nomenclature

SIARLE-11 20BY-IFIKIPIWIAL-JOSR-BOR /0 | /JSMT]

SAL —l
Sensor Actor Line
Installation size
12 =M12x1
45 = RJ45
Coding
B = B-coding
D = D-coding
X = X-coding
Design
F = Socket
S = Special connector
| = Insulation body
Gender
K = Female connector
S = Male connector
Assembly
= Front panel mounting
P = Positioning possible, Front panel mounting

H = Back panel mounting

Configuration
= Axial
W = Angled Vv = Square flange

Number of poles
4 = 4-pos.
8 = 8-pos.

Type of connection/Installation height

P5.5 =Dip solder 5.5 mm X55 =Dipsolder5.5mm L = Solder termination
P6.75 = Dip solder 6.75 mm X7.2  =Dip solder 7.2 mm

P12 =Dip solder 12 mm X9 = Dip solder 9 mm

XX = Wire/Cable length [m] X10 = Dip solder 10 mm

Pxx = Installation height one-piece socket X13 = D[p solder 13 mm

Xxx = Installation height two-piece socket

Screw connection

= M16x1.5 20 = Square flange 20 x 20
12 = M12x]1 26 = Square flange 26 x 26
9 =PG9
Cable quality
G4 =TPU, violet, UL, AWG 22
G5 = PVC, violet, UL, AWG 22

G6 =TPU, green, UL, AWG 22

Termination
= manual assembly
SMT = Surface Mount Technology (Reflow Soldering)
THR = Through Hole Reflow (Reflow Soldering)
WD  =Wall busting

246 CONEC®



SAL M12x1 Sockets — PRoFiBus DP/
INDUSTRIAL ETHERNET 100 MHz / ETHERNET 10 GBIT/
Product specification

Contact Cuzn

Contact plating Nickel plated, gold plated

Contact carrier PBT GF, UL 94 / PA GF, UL 94, LCP GF
Sealing FPM / NBR

Counter nut CuZn, Ni

Socket housing CuZn, Ni

Sealing compound Polyurethane-resin, UL 94

Shroud Spring steel

Shroud surface Sn gal.

Information on the following pages are basing on below mentioned IEC-standards.

Rated voltage IEC 61076-2-101  X-coding = IEC 61076-2-109
Current rating IEC 61076-2-101  X-coding = IEC 61076-2-109
Insulation resistance IEC 60512

Degree of pollution IEC 60664-1

Degree of protection IEC 60529

Mating cycles IEC 60512-9a

Recommended torque: 1-1.2 Nm

Technical subject to change without notice.

CONEC® 247



SAL D-SUB

Nomenclature

248 CONEC®



SAL D-SUB

Product specification

Contact D-SUB Cuzn

Contact plating D-SUB Nickel plated, gold plated
IDC-Contact CuSn

Housing Thermoplastic chrome-plated

Information on the following pages are basing on below mentioned IEC-standards.

Degree of protection IEC 60529

Technical subject to change without notice.

CONEC® 249



SAL M12x1/ 7/8" Sockers/CAN-Bus/DEeVICENET

Nomenclature

SIATLE-IDINE-J1020 J-JFIKIHT J4)-Jo50/0GH)

=

250 CONEC®



SAL M12x1/ 7/8" Sockers/CAN-Bus/DEevICENET

Product specification

Contact CuZzn

Contact plating Nickel plated, gold plated
Contact carrier PBT GF, UL 94

Sealing FPM / NBR

Counter nut CuZn, Ni

Socket housing CuZn, Ni

Sealing compound Polyurethane-resin, UL 94

Information on the following pages are basing on below mentioned IEC-standards.

7/8" M12x1
Rated voltage |IEC 60664-1 |IEC 61076-2-101
Overvoltage category IEC 60664-1 2
Rated voltage IEC 60664-1 2.7kV
Current rating IEC 60512-3 |IEC 61076-2-101
Insulation resistance IEC 60512 IEC 60512
Degree of pollution IEC 60664-1 IEC 60664-1
Degree of protection IEC 60529 IEC 60529
Mating cycles IEC 60512-9a IEC 60512-9a

Recommended torque: 1.2 Nm

Technical subject to change without notice.

CONEC® 251



—
)
_ =
=
~ I =
g S < < 8
S « ©» "' B
o § § § ®
N S S 2 49
i)
S = = b 2 e
S £ 3§ § =~ O
. S 3 8 5 8¢
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & G S = Description Part No.
2 SAL-12B-RK4.1-2/G5  43-11601
3 3 SAL-12B-RK4.1-3/G5  43-11602
i ~
[Pin4! 4 B 160 4 =
- - ~
5 SAL-12B-RK4.1-5/G5  43-11603
D
10 SAL-12B-RK4.1-10/G5  43-11604
TPU, UL, violet, 02YSH(ST)CH
2 SAL-12B-RK4.1-2/G4  43-10932
x’id"" across 3 SAL-12B-RK4.1-3/G4  43-10933
als 13
Pin 2| N
LFin4j- 4 B 160 4 <
= o~
$135 5 SAL-12B-RK4.1-5/G4  43-10934
D
10 SAL-12B-RK4.1-10/G4  43-10935
TPE, UL, highflexible, violet, 02YS(ST)C11Y
2 SAL-12B-RK4.1-2/G7  43-11605
Width across
3 flats 13 3 SAL-12B-RK4.1-3/G7  43-11606
[Pin 2] iy
| Fin, 4 B 160 4 %
- = o~
1 #135 5 SAL-12B-RK4.1-5/G7  43-11607
D
10 SAL-12B-RK4.1-10/G7 43-11608

252 CONEC®

Technical information starting on page 348




—
S
- =
g X
= = o
3 = I - s
S = 5 '3
= S 5 = 3
s £ 8 9 g
£ 238 8
s 385 §¢
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & S O = Description Part No.
27 2 SAL-12B-RKW4.1-2/G5  43-12471
© 3 SAL-12B-RKW4.1-3/G5 43-12472
g Width across
flats 13 Pin2i mm N
L }_Pin{l- 4 B 160 4 x
=l ) ~
| w;zm,s
o 5 SAL-12B-RKW4.1-5/G5  43-12473
10 SAL-12B-RKW4.1-10G5 43-12474
TPU, UL, violet, 02YSH(ST)CH
2 SAL-12B-RKW4.1-2/G4  43-12475
27
3 SAL-12B-RKW4.1-3/G4  43-12476
< TFin - N
Taa 5™ lping/mm 4 B 160 4 <
c ~
3
- | Mm,s 5 SAL-12B-RKW4.1-5/G4  43-12477
D
10 SAL-12B-RKW4.1-10G4  43-12478
TPE, UL, highflexible, violet, 02YS(ST)C11Y
2 SAL-12B-RKW4.1-2/G7  43-12479
27
;[ 3 SAL-12B-RKW4.1-3/G7  43-12480
@ ' [Pin 2] m
~ a3 | pinajmm 4 B 160 4 *
I o~
R
- | w¢13’5 5 SAL-12B-RKW4.1-5/G7  43-12481
D
10 SAL-12B-RKW4.1-10G7 43-12482

Technical information starting on page 348

CONEC® 253




—
€
_ =
g X
= = o
3 = X =
S = 5 I35
S 8 S S g
s £ 8 2 g
g 225 s 8
. ot 5§ L §eo
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 8 = Description Part No.
14,5
M12x1
2 SAL-12B-RS4.1-2/G5  43-11609
> 3 SAL-12B-RS4.1-3/G5  43-11610
[Pin 2] N
{Pin 4! I 4 B 160 4 =
» i o~
5 SAL-12B-RS4.1-5/G5  43-11611
D
10 SAL-12B-RS4.1-10/G5 43-11612
!
TPU, UL, violet, 02YSH(ST)CH
0145
et 2 SAL12B-RS4.1-2/G4  43-10936
3 SAL-12B-RS4.1-3 /G4 43-10937
2 Width across f——
flats 13 | Pin 21 N
}_Fin4j- 4 B 160 4 <
- = ~
5 SAL-12B-RS4.1-5/G4  43-10938
WQHS'S
D
10 SAL-12B-RS4.1-10/G4  43-10939
TPE, UL, highflexible, violet, 02YS(ST)C11Y
14,5
M12x1 2 SAL-12B-RS4.1-2/G7  43-11613
3 SAL-12B-RS4.1-3/G7  43-11614
2 Width across __
flats 13 TPin 2l mm Y
|pin 4/ mm 4 B 160 4 <
—__ ~
5 SAL-12B-RS4.1-5/G7  43-11615
/|_¢13,5
D
10 SAL-12B-RS4.1-10/G7 43-11616

254 CONEC®

Technical information starting on page 348




—
O
_ — =
g X
= = o
8 s S 57 s
S > o
= & 5§ § 8
S . 2D s
= = = .
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 § S Description Part No.
SAL-12B-RSW4.1-2/
) 2 NI 43-14930
33 &
s
] SAL-12B-RSW4.1-3/
& B 3 o 43-14931
: o 4 B 160 4 .
© i LPin4/ <
L s © SALI2BRWAIS/
[ tma,s 5 G5/A1090 43-14932
SAL-12B-RSW4.1-10/
10 8 /A1090 43-14933
TPU, UL, violet, 02YSH(ST)CH
SAL12B-RSW4.1-2/
w : 2 N 43-14934
=
é’ -2
SAL-12B-RSW4.1-3/
. 3 o4/A1090 43-14935
. ‘ Firz) - N
| ot geross {Pin4imm 4 B 160 4 x
B | “1&5 . T SALIZBRSWAIS/ 4314936
D G4/A1090
SAL-12B-RSW4.1-10/
10 o4/A1090 43-14937
TPE, UL, highflexible, violet, 02YS(ST)C11Y
SAL-12B-RSW4.1-2/
. . 2 oD 43-14938
£
-t SAL-12B-RSW4.1-3/
o E -
B 3 07/A1090 43-14939
¥ o 4 B 160 4 .
o idth acr LPin 4! M x
i— i ~ SAL12BRSWA1-S/
| Wma,s 5 AT 43-14940
D
1 SAL-12B-RSW4.1-10/
10 iyl 43-14941

Technical information starting on page 348 CONEC® 255



—
O
_ =
g
= = o
£ =373
g. v E’ eSS N
s g § 9 g
f £ 38
8 £ s 9
PVC, UL, violet, 02YSY(ST)CY Contact assignment 2 S S 318 § Description Part No.
SAL-12B-RK4.1-
e RS4.1-0,3/G5 43-netr
V‘V\‘dtdaacmss
SAL-12B-RK4.1-
B 06 RS4.10.6/G5 43-11618
[Pin 2| mm IN]
1 Pin 4! I 4 B 160 4 =
i o~
SAL-12B-RK4.1-
162 RS4.1-1,5/G5 4311619
e
SAL-12B-RK4.1-
e 3 BT 43-11620
TPU, UL, violet, 02YSH(ST)CH
0145
T SAL-12B-RK4.1-
@\ 03 RS4.1-0,3/G4 4310940
3 ! gﬁ‘ Width across
| T flats 13
@ SAL-12B-RK4.1-
i D B 06 RS4.1.0.6/G4 4310941
e {Pin 2] mm N
L {pin4/mm 4 B 160 4 x
SAL-12B-RK4.1-
15 RSA.1-15/GA 43-10942
2 Width across
flats 13
SAL-12B-RK4.1-
1 = -
e 3 RS4.1-3/G4 4310943
F14.5
TPE, UL, highflexible, violet, 02YS(ST)C11Y
0145
e SAL-12B-RK4.1-
@\ 03 RS4.1.0.3/G7 43-11228
3 J — Width across
- SAL-12B-RK4.1-
' m . s RS4.1-0,6/G7 4311621
e [Pin 2| mm iy
- } {Pin4) mm 4 B 160 4 =
T + = o~
| s SAL12B-RK4.1- 1311622
T ! RS4.1-1,5/G7
2 T Width across
flats 13
SAL-12B-RK4.1-
= pizat : RS4.1-3/G7 4311623
F14.5
TPU, UL, violet, 02YSH(ST)CH
M12x1
o~
N SAL-12B-FKH4.1-
i ) 4 B 160 4 05 X Rs41.05/G4 43-01669
g {Pin 2| R SAL12B-FKH4.1-
{Pin 4! 4 B 160 4 1 = Rsa11/G4 43-01670
;l‘;\‘dsﬂ:aacvoss
N SAL-12B-FKH4.1-
' 4 B 160 4 2 X Rsal-2/G4 43-01671

256 CONEC®

Technical information starting on page 348




—
g s <
RS O >
S I S
= g 3
S [ S 2
S S S S
- s 3 § ¢
Male connector axial Contact assignment = S = S Description Part No.
B145
M12x1
|
IIHIHE i i; T 3900
Wahaooss | o] " 4 B 160 SAL-12B-RSA4.1 43-12483
g flats 13 | R3[] 3900
[ f -t
% " _ Shielding
coupling screw
* @13,5
36,5
M12x1 Mi2x1
T 1 > 4x Inductance 110nH
L4 fixed
LR g
|2
i -12B-RS5-RK5- ;
s ®) |; 5 B 60 4 SAL-12B-RS5-RK5-RS5  43-11210
g o 82 5,

M12x1

Technical information starting on page 348 CONEC® 257



—
IS
5
=~ £
— & £
8 s S & ¢
g s 22 §
5 g 8§ 8 §
S 2 £ 5 % 8
. S 5 &§ 5§ § ¢
Female connector, axial = 8 & 3 & = Description Part No.
20
o
0
I 4 B 250 75 48 .  SALI2BRKC4-S/150 43-00292
L= width across ftats 18 g
Width across fiats 19 8
I 5 B 60 75 48 . SALI2BRKC5S/150 43-00293
I~ diameler see table ~N
Q@20 o
Female connector, axial
@16
]
[T N
- Width across g‘ 2
? [} flats 15 4 B 250 4 . SALI2B-RKC4-C/100 43-00414
v o
rﬂ @45 83
P16
Male connector, axial
@20
o
n
4 B 250 75 4-8 - SAL-12B-RSC4-S/150 43-00294
S
Width across flats 18
o
Width across flats 19 wn
: ‘ 5 B 60 75 48 ' SAL-12B-RSC5-S/150  43-00295
! H‘\max external cable 2
1l diameler see fable o
©20
Male connector axial
P16
Mi2
. : Width across ;‘- 2
8 @/ a1 4 B 250 4 1 . SALI2B-RSC4C/100 43-00415
i < g
@'@
’”ﬂ $45-83

258

CONEC®

Technical information starting on page 348



—
€
=
- =T <
= = < = S
~ 4~
S ~ > = &)
S s5% s
S £ 3238 & o3
5 [ *E S & =
Q < - S
E s 8§ S ¢g¢ge
Female connector, M16x1.5 thread Contact assignment =< S & 3§ = = = Description Part No.
Mi2x1
Width across ~
flats 17 - o
Sealing &
Pin 1
Pin 2 o
. Pin 3 4 B 9 4 2z 05 22 SALI2B-FK43-05 43-01042
Pin 4 I
M16x1,5
Female connector, PG9 thread
M12x1
Width across o
flats 17 - o
Sealing &
Pin 1 Il
Pin 2 Il o @)
Pin 3 4 B 9 4 2z 05 22 SALI2B-FK43-059  43-01109
o Pin 4 I
pes
Male connector, M16x1.5 thread
M12x1
e~ [T
e
i S Y Pin 1
Seahng/ E .. Pin 2 W 8 () 22 2 1
| Pin 3 W 4 B Lo 4 2 05 SAL-12B-F$4.3-0,5 43-01043
2 ! Pin 4
U
I
Mi6x1,5
Male connector, PG9 thread
M12x1
Width across ‘
flats 17 ! ]&‘ @
-l
ﬁ Pin 1
Seal\ng/jf P:: 2m e 9
Pin 3 4 B 9 4 2z 05 22 SALI2B-FS4.3-0,5-9 43-01110
. Pin 4 I
{l
J.
PGS

Technical information starting on page 348 CONEC® 259



T

~ =

8 = < 5

S = > 3

S s 5§ <

s g § §

a S - =

S > = s =

E 5 8 § B

Two-piece female connector, axial with shroud, installation height 5.5 mm = S g & £ Description Part No.
£
£
P14 G
Width across M12x1 @ g
flats 15 £¢
£5
Front @o
Sealing /panel §§
;" - . 4 B 250 4 55  SALI12B-FK4-X5,5 43-01216
[ gu;‘_i il ” H
mif T
| t-—-p

= YR ERES
Q| o
b Shroud -
PCB

Two-piece female connector, axial with shroud, installation height 10 mm

1 £
@
Width across Mi2x1 Py
flats 15 8=
— Front i—’E
Sealing [panel ;',;’uﬁ
o A i TE 4 B 250 4 10 SAL-12B-FK4-X10 43-01212
I L —

w0, = 2

2

O K|
= bt ShroudjI \ &
PCB
Two-piece female connector, angled with shroud
£
g4 §
M1 2x1 % §
- i
“‘_’ Sealing / / ;%ne‘l EE
= ~ T 4 B 250 4 SAL-12B-FKW4 43-01224
[ —H L
s o3
Width 1 : H b
flats 15 U@ﬁi
Shroud 17 \ PCB
16

260 CONEC® Technical information starting on page 348



Number of poles

Rated voltage [V]
Current rating [A]
Installation height [mm]

Coding

Two-piece male connector, axial with shroud, installation height 5.5 mm Description Part No.

M12x1

Width across
flats 15 _\

min 2,5mm - max 3mm

Panel thickness

Seating Q[m 4 B 250 4 55 SALI2BFSAXSS 4301218

_
= )
TEME—T 1 ‘“‘

I — i . I
©
Shroud -
PCB

22

28

Two-piece male connector, axial with shroud, installation height 10 mm

£

E

©

Width ]

. S

= £

Front %“N’,

Sealing /Vpa"e‘ &%.E

o == 4 B 250 4 10 SALI2B-FS4-X10 43-01214

o . E
- I
I

3,3
3
(
K

—

0

Q

® 16

Two-piece male connector, angled with shroud

£

§

Width &

fats 15 Mi2x1 ] g

€E

N £E

£o

g Sealin Front %g

- 9 1_ panel o E
. ; 4 B 250 4 SAL-12B-FSW4 43-01226

[ L
/|/ T g
~
|

Shroud—"|

Technical information starting on page 348 CONEC® 261



B
~ T
S = S|
IS8 ) RS <
s g § 5
8 - 2 t B
£ £ 3 ¢ o3
Male connector, M16x1.5 thread 2 8 & 8 2 Description Part No.
M12x1
Width across
flats 17 1 [
\ |
®
&
Y
/ﬁﬁ 4 B 250 4 55 SALI2BFS4-L 43-02296
Sealing H

03]

2,6

M16x1,5

Male connector, square flange 26 mm

12

21
N
w

250 4 45 SAL12B-FSV4-L-26  43-02305

N
I

bl e
2 f U4
i
©
Sealing @1 o
onesided self-adhesive
Male connector, square flange 20 mm
M12x1
Al
ol
ol ¥
- =)
™

4 B 250 4 105 SAL12B-FSV04-1-20 43-02302

10,5

T Seaing

@1

2,6

@12+01

$13,275%

262 CONEC® Technical information starting on page 348



B
—~ =
8 s S 5
S > )
IS8 ) RS <
s g § 5
§ < & & 8
E = 8 £ B
Female connector, M16x1.5 thread 2 8 & 3 2 Desription Part No.
M12x1
- 4 B 250 4 55  SAL-12B-FKH4-P5,5 43-01123
Width across @
flats 19 ol o
Sealing g
=
0 L] [ TT1
Ramamitll
4 B 250 4 12 SAL-12B-FKH4-P12 43-01124
M16x1,5
Female connector, PG9 thread
M12x1
) 4 B 250 4 55  SAL-12B-FKH4-P5,5-9 43-01249
Width across _EEE%K
flats 19 B
L= T}
Seali raﬁ« ﬁ_Aj B
ealing
N
IQI L= | =1
[ %o}
[ll“HU] 4 B 250 4 12 SAL-12B-FKH4-P12-9  43-01250
PGS
Female connector with shielded connection, M16x1,5 thread
M16x1,5
Mi2x1
pudth across “L’ 2le 4 B 250 4 = SALI2BFKH4-P675 43-01689
Y
Sealing
mI | I R N |
~
o
S
[o>)
@145 |

Technical information starting on page 348 CONEC® 263



T
— =
g s S 35
S = S
S s £ <
s § § 8§
5 S - =
f £ 3t og
Male connector, M16x1.5 thread 2 8 & 8 2 Description Part No.
M12x1 4 B 250 4 55  SAL12B-FSH4-P5,5 43-01125
i acoss —\'—’1
Sealing LCL% |
o il \l\ T
Tk
M16x1,5 4 B 250 4 12 SAL-12B-FSH4-P12 43-01126
Male connector, PG9 thread
M12xt 4 B 250 4 55 SAL12B-FSH4-P5,5-9  43-01251
Width
1Ial‘(:’11ga()l'(3v55 \T‘LQ% R )
Sealing\g_ii | &
j:%
Bl T [0
@ [ —l+l [=I1R|
Sk
pas 4 B 250 4 12 SAL-12B-FSH4-P12-9  43-01252
Male connector with shielded connection, M16x1.5 thread
M16x1,5
M12x1
Width =
fats 19 Cmss\ kQH
@ 0 wn
Sealing FEP IS 4 B 250 4 3 SALI2B-FSH4-P675  43-02207
10 UL T [ I
T TE
@145 b

264 CONEC® Technical information starting on page 348



Number of poles

Rated voltage [V]
Current rating [A]
Installation height [mm]

Coding

Two-piece female connector, axial with shroud, installation height 5.5 mm Description Part No.

13

§

14 g

Mi2xi Width across § z

flats 14 E L%

3 VA [[ 4 B 250 4 55  SALI12B-FKH4-X5,5 43-01217
\ amay)
o] [T L
’ ) uuy ]
z Shroudj \f ;
PCB

Two-piece female connector, axial with shroud, installation height 10 mm

B4
M12x1

/—W\d(h
across
flats 14

/— Front pat

& £ I 7 4 B 250 4 10 SAL-12B-FKH4-X10 43-01213
" )/I\Q(dst:\;\cross =3

T I
&)

min 2,5mm - max 3mm

3 Panel thikness

Sealing

75

33
2,9
1.6

Shroud
PCB

Two-piece female connector, angled with shroud

Width
y across
flats 14

/—Fron( panel
T ; 4 B 250 4 SAL-12B-FKHW4 43-01225

Panel thickness
min 2,5mm - max 3mm

=T
o

Width across
flats 15 ———pcB
18

Technical information starting on page 348 CONEC® 265



266

T
— =
g = < 5
Back panel mounting, Dip solder termination S S 2 8
5 g § §
N S = B
= 2 = S =
A A
Two-piece male connector, axial with shroud, installation height 5.5 mm = N & &} £ Description Part No.
Front panel
M12x1 £
Width = ZE
ac‘ross % (%l
o | flats 14 :.,_,.E
~ | Seal
b vealng «@F@%ﬁ -—1 4 B 250 4 55 SALI2B-FSH4-X55  43-01219
- | -
d L Im ‘! bl
0— o | N
o - N
Width acrass
flats 15 PCB Shroud
Two-piece male connector, axial with shroud, installation height 10 mm
Front panel
£
£
M12x1 @
ae
Width % E
across £e
flats 14 E ‘:
23 Sealing g€
& 4 B 250 4 10  SAL-12B-FSH4-X10 43-01215
—e
o 3 e
o] ———1f Lul]
3 L
© Width across \ Shroud
flats 15 PCB
Two-piece male connector, angled with shroud
— Frant panel
Width E
{l across
flats 14 _\ M12x1 " (:
gE
ZE
= E
© g9
= Sealing £E
- i 4 B 250 4 SAL-12B-FSHW4 43-01227
p I
of T T 1 o ;
/ = =
Width /{Q': >
flats 15 | rcs
Shroud 1.6

CONEC®

Technical information starting on page 348




—_
S
= =
—
8 = S
s % 2lL§
= S 5 § 3
5 S ¢ § 8
£ £ 3 88 ;s
Female connector, M16x1.5 thread, PVC, UL, violet, 02YSY(ST)CY Contactassignment = S & S 8 = pescription Part No.
o~
4 B 160 4 uo->_ r:1< SAL-12B-FKH4.1-0,5/ 43-01654
X G5
M12x1
Width across 5
flats 19
?3 Yo}
Sealing &
=
LT T 101 e
Width across fﬁ g o ~
n - - .
flats 19 jrin2 - 4 B 160 4 1 N SALIBFKHAIN/ .o
LPin4] XG5
-
M16x1,5
D
o~
4 B 160 4 2 & SAURBRRHAT2ZZ s 01656
X G5
Female connector, M16x1.5 thread, TPU, UL, violet, 02YSH(ST)CH
o~
4 B 160 4 05 % 2A4L']ZB'FKH4']'°'5/ 43-01648
M12x1 o
Width across *
flats 19
o| v
Sealing % B
P 1]
T T T 1T ©
Width across — | j‘ ¥
flats 19
[Pin 2! IN] 12B- .
| pinaimm 4 B 160 4 1 o SALRBRRHATLS s hi649
{Pin4) XG4
M16x1,5
D
o~
4 B 160 4 2 % éﬁL']ZB'FKH‘”'Z/ 43-01650
o~

Technical information starting on page 348

CONEC® 267




—
6)
— =
8 s S oS
(S} > I =
S S £ = 8
5 g 8§ §&8 o
5 S = § 8
£ £ 3 8 2 S
E 5 8 £ 3§ ¢
Male connector, M16x1.5 thread, PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & & § = Description Part No.
o~
4 B 160 4 05 & AERBBHRAI0SN 5565
XG5
IRLAES
Width across ﬁ%%
flats 19
| o|a
ssama Ml N
] =y I Pin 21 . - H -
i N {pin 4 B 160 4 1 % Z’;UZBFSH“'”/ 43-01658
/ = ~
Width across
flats 19
-
M16x1,5
D
o~
4 B 160 4 2 & CAVRBEHAI 43650
X G5
Male connector, M16x1.5 thread, TPU, UL, violet, 02YSH(ST)CH
o~
4 B 160 4 05 o CSALRBRHATOSS 5065
~ G4
_Mitax
Width across
flats 19 Fw
Sealing L 2|2
%ﬁ &
[ [0
[Ty T TTT g
Width across [Pin 2] IN] 12B- B
flats 19 % | Pin 4! 4 B 160 4 1 5 SALRBRHATS 45 65
i X G4
-
M16x1,5
D
o~
4 B 160 4 2 S OALRBRHAI2Z s 0653
~ G4

268 CONEC® Technical information starting on page 348



—
O
— =
=<
= & =
3 = o 5
= & 5 § 8
S £ & 2 g
S S v 8 9
= g’ = S N o
s §3 1§
= 8 & & 8 = Description Part No.
M12x1
17@1 Width across flats 17
frd
gl o L4
C: o1s 4 B 250 4 SAL-12B-FSH4-FKP4-  43-01693
3 & WD
£
[ TTT T

[ | Sealing

&%\ Width across flats 19

M12x1

Technical information starting on page 348 CONEC® 269



270

.
&)
s
—_
E —
ks s 7 38
D-SUB Male connector 9-pos., angled with programming interface S S & 8
: s S
Male connector/Female connector M12x1 axial, 4-pos. S £ & g
S 2 I S
§ 3 & 1§ 8
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 = Description Part No.
~39,5
=] SAL-DS-SKSW9.1-12B-
8l 2 05 RS4.1-RK4.1-05/C5 4311796
Y B
g
IN 5 :- g =3
a2 mieen i o
>
L . o SAL-DS-SKSW9.1-12B-
~N -
) . 9/4 B 5 12x22 oo i e 4311757
ouT La mn
T e s 2
Cable shield O——0 Housing shield
Width across
flats 13 SAL-DS-SKSW9.1-12B-
2 RS4.1-RK41-2/G5 4311758
TPU, UL, violet, 02YSH(ST)CH
SAL-DS-SKSW9.1-12B-
05 RS4.1-RKA.1-05/G4 4311753
IN 2 L . g O
a2 mieen i a
>
> — = 3 n - - - -
. 94 B X 1 2x22 éﬁs\i ?_SR?ZS;"_’?/]GLZB 4311754
of Y= n ' '
[REIpt.1F ~
Cable shield O——0 Housing shield N
a1 SALDS-SKSW9.1-12B
flats 13 - - - -
2 RS4.1-RK41-2/Ga 4311755
TPE, UL, highflexible, violet, 02YS(ST)C11Y
~39,56
=] SAL-DS-SKSW9.1-12B-
I 05 RS4.1-RKA.1-05/G7 4311759
ol i
“ =1
g
IN 2 :- g O
a2 mieen i a
>
=2 o0 SAL-DS-SKSW9.1-12B-
~ A
] . 9/4 B 5 12x23 g e, 4311760
ouT e [Te)
T e s &
Cable shield O——0 Housing shield =
\47)'
Width across
flats 13 SAL-DS-SKSW9.1-12B-
2 RS4.1-RKa.1-2/G7 4311761

CONEC®

Technical information starting on page 348



=
&)
S
—
E —
: _ 8 s - 8
D-SUB Male connector 9-pos., angled with programming interface S e S
. o ST G
Male connector M12x1 axial, 4-pos. S Es S
T 2 5 =2 S
§ 3 & 1§ 8
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & G =  Description Part No.
~39,5
B
=] SAL-DS-SKSW9-12B-
H 2 RS4.1-2/G5 a3T7a7
- =
+5V
(&)
[ — 6 (=)
o SAL-DS-SKSW9-12B-
8 f\‘_ -
" - 9/4 B 5 302%22 popisce 43-11748
| R3[]290 Ohm H_
1 5 <
Cable shield 0——0Housing shield
2 Width across
flats 13
A SAL-DS-SKSW9-12B-
L > RS4.1-5/G5 4311749
TPU, UL, violet, 02YSH(ST)CH
~39,5
= SAL-DS-SKSW9-12B
ik 2 RS4.1-2/G4 311744
« =1
(&)
[ — 6 (=)
: S ] ’ >
\ & SAL-DS-SKSW9-12B- )
= . S 9/4 B & 302x22 o0 4311745
| n
} R3] 290 Ohm ~
#135 5 <
*ﬁ;;ﬁ_i Cable shield 0——OHousing shield
b
J j
g Width across
flats 13
@ SAL-DS-SKSW9-12B-
Vi > RS4.1-5/G4 SERILES
0145
TPE, UL, highflexible, violet, 02YS(ST)C11Y
~39,5
L =] SAL-DS-SKSW9-12B-
5l 2 RS4.1-2/G7 4311750
. T =]
AE|EE
(&)
(=)
o Jou) 2 SAL-DS-SKSW9-12B
T B o -D5- -12B- .
3 = 9/4 &3 2x23 o0 4311751
| n
J ™~
E‘gﬁ @135 <
2 /— X\Q&ﬂ: goross
SAL-DS-SKSW9-12B-
Wiz 5 RS4.15/G7 43-11752

Technical information starting on page 348 CONEC® 271



272

—
O
_ =
g <
<
g A 38 = 3 | S
D-SUB Male connector 9-pos., angled with programming interface S S s 8
- S
Female connector M12x1 axial, 4-pos. S £ § g
g2 3 s 3
. S 5§ 8 § &
PVC, UL, violet, 02YSY(ST)CY Contact assignment = S & 3 = Description Part No.
~39,5
SAL-DS-SKSW9-12B-
= 2 RK4.1-2/G5 aeHIITES
" 5
gi Y
B aed 3 8
A = g 3 >
i SAL-DS-SKSW9-12B-
8 o~ -
1 9/4 B 5 302x22 g e 43-11739
R3[|390 Ohm m
5 <
135 Cable shield ——OHousing shield
N Width across
Tats 13 SAL-DS-SKSW9-12B-
> RK4.1-5/G5 SAlAY
TPU, UL, violet, 02YSH(ST)CH
~39,5
SAL-DS-SKSW9-12B-
o 2 RK4.1-2/G4 GEHIITED
of v
a8
- 5
% +5V
B aed 3 8
A D g 3 >
e SAL-DS-SKSW9-12B-
8 o~ A
PR 9/4 B 5 302x22 g, 4311736
R3[|390 Ohm m
b 5 Q:
Cable shield &——OHousing shield
Width across
fals 13 SAL-DS-SKSW9-12B-
> RK4.1-5/G4 CEHIET
TPE, UL, highflexible, violet, 02YS(ST)C11Y
~39,5
SAL-DS-SKSW9-12B-
r =] 2 RK4.1-2/G7 4311741
o [T =1
% — 45V
ayed 3 8
A = g 3 >
@ SAL-DS-SKSW9-12B-
8 L -
S 9/4 B 5 30 2x23 o o 43-11742
R3[|390 Ohm R
he s ~
Cable shield >——0Housing shield
El\h @135
¥ Width across
e 12 SAL-DS-SKSW9-12B-
5 43-11743

RK4.1-5/G7

CONEC®

Technical information starting on page 348



S}
_ =
g <
= =
Y = 708
o S~ O
s s = 8
S S )
N s 5 8
S 2 £ = 5]
. § 5 & § 8
TPU, UL, violet, 02YSH(ST)CH Contact assignment = S & O = Description Part No.
~38,5
= SAL-DS-SKSW9-12B-
o] 05 FkH4105/Ga 4301673
a|%
o =]
$
+5V
B ayed 6
A = g 3
>
SAL-DS-SKSW9-12B-
o o
bt 94 B8 1 2x22 2T 4301676
R3[ 390 Ohm
s
Cable shield o——OHousing shield
Width ,—‘:\” M16x1,5 -
::m-/\‘h%ﬂ' ¢ SAL-DS-SKSW9-12
Sealing “ AL-DS-SKSW9-12B-
s 2 43-01677
widn — % ?| & FKHA4.1-2/G4
Tt 16
M12x1

Technical information starting on page 348 CONEC® 273



—
S
_ =
g X
= = <
g = X = s
S = = L%
= g S § 8
s £ § ® g
S S = S O
£ 23§ s S
= = N —=
S § 85 §¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & G G = Description Part No.
?10,1
M1 p 22535;254.2-2/ 4213469
= pvidt: across 5 SAL-85-RS4.2-3/ 4213470
fPin 11 Geites
@ 1Pin 2| N
IPin3 4 30 3 <
- #1o Pin4 | =
‘ 5 (53/;"/'23'254'2'5/ 4213471
10 2'2533'254'2']0/ 4213472
TPU, UL, halogenfree, green, Cat 5e
- SAL-85-RSW4.2-2/
26 z|e 2 6,034 42-13473
Sla
=
—_ SAL-85-RSW4.2-3/ )
. HE it 3 o 0nA 4213474
. ~
RIS Width across IE:;;IE 4 30 3 o
flats 9 Pin2 | <
Pin4
— SAL-8S-RSW4.2-5/
@10 5 C6/034 42-13475
o SALBRWAZION

274 CONEC® Technical information starting on page 348




~—
S
— =
g X
~ — =
8 = < 3 s
3 = 5 I §
= g 5 § ¢
s g § 2 g4
S S = S O
§ 23§ @ S
= = N —=
S § 85 §¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & G O <= Description Part No.
#1041
Mt SAL-85-RS4.2-
E ! RS4.2-1/G6/034 A213417
- ﬁ\Md.h
across flats 9
] SAL-85-RS4.2-
= G 2 RS422/G6/034 1213478
Pin2iC3 o
: Iin 3 [ 4 30 3 o
{Pin 4 | N
— SAL-85-RS4.2-
T > RS4.2-5/G6/034 4213479
S
@ SAL-85-RS4.2-
o | 10 Rs42-1006/034 12713480
@10.1
TPU, UL, halogenfree, green, Cat 5e
_ SAL-8S-RSW4.2-
“ g ! RSW4.2-1/G6/034 1213481
g
SAL-85-RSW4.2-
2 RSW4.2-2/G6/034 42713482
:rPTnT:I:I -
Pin2,J
T Iin 3 [ 4 30 3 *
| {Pin 4 N
|
SAL-8S-RSW4.2-
Wicth across > RSW4.2-5/C6,034 1213483
g
SAL-85-RSW4.2-
10 RSW4.2-10/G6,/034 4213484
T
£
-
] = E E’
S = o 2
Q 2 < =
S g 8§ 8
A S =
N > 2 2 §
Female connector axial, shielded = 8§ & §8 = Description Part No.
#9.8
@91
| 8
] h 4 30 3 16 SAL-8D-EKVM4-P16  42-01052
o 2 i \
- } Sealing
S i figi

Technical information starting on page 348

CONEC® 275




—
S
— =
g <
= = o
8 — S‘ ~ K
S = 5 0§
S s § s 8
s g § 2 g
a = : S
g 2 £ % K §
S 385 3¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & S G = Description Part No.
2 SAL-12D-RS4.2-2/G6  43-10944
0145
M12x1
3 SAL-12D-RS4.2-3/G6  43-10945
[ Widin across  1Pin 11
flats 13 IPin2|CJ N
Ipin’3 [ 4 D 160 4 =
2 e {Pin 4 N
—
5 SAL-12D-RS4.2-5/G6  43-10946
JL 10 SAL-12D-RS4.2-10/G6 43-10947
TPU, UL, halogenfree, green, Cat 5e
@145
M12x1
SAL-12D-RS4.2-
03 RS4.2-0.3/G6 43-10948
2 ﬂ_) Width across
flats 13
SAL-12D-RS4.2-
j 06 R54.2-0,6/G6 43-10949
:rPTnT:III
Pin2,] N
0 Iin 3 4 D 160 4 <
| 1Pin 4 /I <
+
SAL-12D-RS4.2-
15 RS4.2-15/G6 43-10950
@ Width across
flats 13
SAL-12D-RS4.2-
M12x1 3 43-10951

RS4.2-3/G6

276 CONEC®

Technical information starting on page 348




~—
S
— =
g <
= = o
8 = X = s
S = o !B
S s £ s 8
5 g § S q
a = : S
§ 25§55 8§
S5 F &8¢
TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & S G = Description Part No.
M12x1
Width across SAL—]ZD-FKH42-
— \% ®g 05 RS4.2-0,5/G6 4301672
eaing—.___ [T \'_l
O ETTT w
idth across — = g
m‘:‘g | % M16x1.5
5 }FPTn_f:I:I
Pin2|CJ N -12D- .
| trins mm 4 b o0 4 1 % ADDREHEZ 4301673
{Pin 4 ¥ -
| E—
Width across 2
flats 13 h
SAL-12D-FKH4.2-
2 RS42.2/G6 43-01674
M12x1
TPU, UL, halogenfree, green, Cat 5e
SAL-45-554-12D-
03 RS4.2-0.3/G6 43-12484
g
SAL-45-554-12D-
o 06 RS4.2-0,6/G6 4312485
o IPin11CJ <
IPin2|C3 £ N
Ipin 3 4 D 48 o <
(Pin - ~
SAL-45-554-12D-
15 RS4.2-15/G6 4310996
s Width across
flats 13
SAL-45-554-12D-
3 RS42-3/G6 43-10997
M12x1

TPU, UL, halogenfree, green, Cat 5e

M12x1

Width across
flats 19
%% 8 o5 SALSSSATD- o

YT T o FKH4.2-0,5/G6
x\;‘f’;:;‘wss/ i MIBX1S

18

i::;ig E N SAL-45-554-12D
N -45-554-12D-
Ipin 3w 4 D 8 o 1 x oY 43-01679
[Pin 4 - N -
—
SAL-45-554-12D-
2 FKH4.2-2/G6 43-01680

Technical information starting on page 348 CONEC® 277



.
&)
- =
i g = X < 8
Male connector RJ45 axial T 2 2 <+ 8
. S = =
Male connector RJ45 axial 5 £ 8 ®? g
S = - 2
S = S ) g
S § 5 § 8
PVC, UL, green, Cat 5e Contact assignment = < &) Q N Description Part No.
RJ-45-RS8.31-
03 RS8.31-0,3/GAJ/025 17:500720
r _‘whne/orange -
e fam 1
RJ-45-RS8.31- :
Zﬂh,‘%me == 06 RS8.31-0,6/GAJ/025 17500721
S a5 <
4 blue, - r;‘
o fihisigeen | 8 125 1 N
o i ¥ RL45RS831
white/brown - - . -
o ' 15 RS8.31-1,5/GAl/025 /200722
8-—1 a8
- shielding |
RJ-45-RS8.31-
3 Rs8.313/CAJ/025 /200723
TPU, UL, green, Cat 5e
RJ-45-RS8.31-
03 RS8.31-0,3/GAF/025 e
:;whnelorange '_1_‘ RI4S RSS 3]
— jora ( 0" Dl N
z iitomiie | z 06 RS8.31-0,6/GAF/025 002
blue, | S\-l
) Tog s g %
3__{whl\e/green I3 ~
XL 5 s
__whne/brown | 7 - - . - N
T, 15 RS8.31-1,5/GAF,/025 |/ 200726
Bt t 8
S shielding S
RJ-45-R58.31-
3 RS8.313/GAF/025 /200727
TPU, green, cULus 20236, Cat 5e
RJ-455-RS8.36-
! RS8.36-1/GAF/025 /140013
C yellow T RJ-455-RS8.36- :
- l 2 RS8.36-2/GAF/025 |/ 140023
3 Si E
| arange | 3
i2 2, 4 125 1 =
I blue sl ;
“T7 shietding T~ RJ-455-RS8.36- )
RJ45 RJ45 > RS8.36-5/GAF/025 |/ 140033
10 RI-455R58.36 17-140043

RS8.36-10/GAF/025

278 CONEC®

Technical information starting on page 348



r—
)
_ .
g = X = 3
S =) IS
N s &8 2 g
S > g B =2 e
< s - S » ©
S 8§ 5 8¢
TPU, green, cULus 20236, Cat 5e Contact assignment = S & O S = Description Part No.
. 184
] SAL-455-RS8.33-8D-
03 42-13316
i oo RS4.24-03/GD/014
I orange 4}
:R blue 3}
| : g
- D I 4 30 1 *
! <
RJ45 MBx1
3 SAL-455-RS8.33-8D-
- BAdEh across -
flate 8 1 RS4.24-15/GD/014 4213317
Maxt
$10,1
TPU, green, cULus 20236, Cat 5e
13,4
SAL-455-RS8.33-12D-
s RS4.24-0,3/GD/014 4318908
|r1 white/orange ”ﬂl
i orange 4:
: blue 3:
I white/blue -l ©
i 2 4 D 30 1 <
: <
i
i
a1 pus Tirex SAL-455-RS8.33-12D-
1> RS4.2415/GD/014 43718909
' Mi2x1
@145
TPU, green, cULus 20236, Cat 5e
- 13,4
RJ-455-RS8.33-
[ White/orange 72731 &2 RS8.33-0,3/GD/014 4318910
2 orange 2
pmlblie g
3 white/blue 3 ©
- 40 a4 30 1 =
5 n.c 5 <
7m1C 7
gmlnC 8!
"1 shieding |
B — RJ45 15 RJ-45S5-RS8.33- 4318911
' RS8.33-1,5/GD/014

Technical information starting on page 348 CONEC® 279



—
IS
S
g
~ § £
g = X £ E
R T f = 3
S g 8§ B §
5 S = 8
£ 83 8 8 ¢
Female connetor axial 2 8 & 3 & = Description Part No.
@16
\
[N
— Width across m 2
9 flats 15 o
4 D 250 4 H 0 SAL-12D-RKC4-C/100 43-00416
<~ o
T !)
r ®45-83
@16
Male connector axial
@16
\
TN
= Width across m 2
[ee)
‘ Ej’ flats 15 4 D 250 4 ., SALI2DRSC4-C/100 4300417
< o
gzm
r ®45-83
@16

280 CONEC® Technical information starting on page 348



—
(6
= ~
NS
~ =
g =< 5 &
s T 2% 387
5 £%858 58
S S - § § g
S D S & S S
ES 8 S 8 &g
Female connector, M16x1.5 thread Contactassignment = S & S S = = Description Part No.
M12x1
X\g;islq;cross ~
&
Sealing
|
B ar=
Pin2 1 o
: Pin3 mm 4 D o 4 2 22 05 SAL-12D-FK4.2-0,5 43-01044
. | Pin4 H
M16x1,5
Female connector, PG9 thread
M12x1
Width across — E ~
flats 17 - o
CErS ) S
SeahngNLjTTf Pin1 [
Pin2 [ o (@)
Pin3 4 D o 4 2 22 05 SALI2D-FK4.2-05-9  43-01111
U Pin4 N
PG9

Technical information starting on page 348 CONEC® 281



282

T
- =
8 = < 5
Front panel mounting, Dip solder termination = S & 3
S § § 5
S & £ 8
E 5 8 ¢t B
n o o 5 o n S IS 3 %) L.
Two-piece female connector, axial with shroud, installation height 5.5 mm = 8 & @) =< Description Part No.
1S
£
P14 %
Width across Mi2x1 D E
flats 15 \ l——— EE
' Front Eﬂg
- Sealing fpane| g'E
2 - =z 4 D B 4 55 SALI2DFKAXS5 4301222
== |
© [ -
I
- of o
& Shroud -
PCB
Two-piece female connector, axial with shroud, installation height 10 mm
B4 £
(]
Width across M12x1 P
flats 15 § 3
Front EE
Sealing panel ég o
- S 4 D = 4 10 SAL12D-FK4-X10 43-01220
3 L =i
&) =4
~ B
| 1] I
e - @«
© | Shroud -
PCB
Two-piece female connector, angled with shroud
£
P14 &
M12x1 2 ]
-
— ;u%
g Sealing / /g;%’g E%
- e ; 4 D g 4 SAL-12D-FKW4 43-01228
T 1 o
p D4 ;k i
Width
fafs 15 U%EIQ

Shroud / 17 \ PCB

CONEC®

Technical information starting on page 348




T
—
8 s < 5
S =~ IS
S o £ <
R g § 5
S S — =
HE N
Female connector, M16x1.5 thread 2 8 & 3 2 Description Part No.
M12x1
‘ '“ﬂ 4 D 250 4 55  SAL12D-FKH4-P5,5 43-01157
Width across —
flats 19 I
G
—
| L] [ T71
Rammiit!
U
M16x1.,5 4 D 250 4 12 SAL-12D-FKH4-P12 43-01118
Female connector, PG9 thread
M12x1
4 D 250 4 55 SAL12D-FKH4-P5,5-9 43-01236
Width across I\
flats 19
x [To)
Seali r—~_r‘ ﬁ_/*] | &
ealng\
o [N==EE = |
i S
PGS 4 D 250 4 12 SAL-12D-FKH4-P12-9  43-01248
Female connector with shielded connection, M16x1.5 thread
M16x1,5
M12x1
Width across gi ® [0
flats 19 & 4 D 250 4 6,75 SAL-12D-FKH4-P6,75 43-01690
Sealing
QI LTI
S
@145 2’

Technical information starting on page 348

Vo o
A\ T4

INEC° 283



284

T
—~ =
8 = < 35
Back panel mounting, Dip solder termination S s 2 8
S s 8 S
5 o S = 8§
T £ 3 ¢ 3
Two-piece female connector, axial with shroud, installation height 5,5 mm 2 8§ & 3 & Description Part No.
£
&
B14 %
g E
Mr2x1 Width across °:’é
flats 14 f;—f £
= . g} o
] s%mgxg / / Wwich across 5 £
2 7 ] Vi I 4 D 250 4 55  SAL12D-FKH4-X5,5 43-01223
N\ Ay o
® [Tl s
] 1L U I N
o / \ el o
o Shroud -
PCB
Two-piece female connector, axial with shroud, installation height 10 mm
E
3
@
3
@14 % E
M12x1 g E
Width =
/_ECI'OSS @ 3
flats 14 é-é
Sealing ] / Front panel
2 T = T T 4 D 250 4 10 SAL-12D-FKH4-X10 43-01221
o L Il
N
[™~— Width across
ﬁ' “ flats 15 2
U I
[ E——" g \*}
o T ©
o | j \ -
N Shroud
PCB
Two-piece female connector, angled with shroud
£
£
@14 @
P
M12x1 g E
Width ZE
/across 'glg
flats 14 B
@ Sealing / Front panel §'§
Al - T i 4 D 250 4 SAL-12D-FKHW4 43-01229
' ST

i 1 o
/ u g: » ~
Width across T -

14,2

flats 15

CONEC®

Technical information starting on page 348




—
O
— =
=<
- & =
3 = IS B
o & § § S
S S 202 g
S S & S ¢
S 2 5 § = S
E S 8 £ § @
Female connector M16x1.5 thread, TPU, UL, halogenfree, green, Cat 5e Contact assignment = S & 3 8§ = Description Part No.
~
4 D 8 a4 05 N SAL-12D-FKH4.2-0,5/ 43-01660
= X c6
M12x1
e ——— |
Width across o
flats 19 ¥
®| v
Sealing ﬁE—Pﬁ‘_ <
\J—[ IS
D& T T 171 e g
Width across M16x1,5 < ' N
flats 19 : Pin2 L o N SAL-12D-FKH4.2-1/
- Pin3 4 D2 41 x g 43-01661
_ Pin4 I
~
4 D § 4 2 9 éAGL-]ZD-FKH4.2-2/ 43-01662
<

Technical information starting on page 348 CONEC® 285



—~
€
—~ =
.
g = < 7 8
) =
s g § § §
S S & £ g
S o S & =2 8
S £ ©- § & S
s s ESge
TPU, waterblue, S-FTP Contact assignment = S & O O = Description Part No.
14,8
M12x1
SAL-12X-RS8.8-
! RS8.81/GG 4315364
1.7 el 1 SAL-12X-R58.8- )
2M ) 2 RS89/ CC 4315365
I ~ E N
. D 2 A o
- 5 8 X 48 05 =
ol 1 5 <
?:1,><><:? T SAL12XRS8S
S o 8 -12X-R58.6- i
5 RS8.8-5/CG 43-15366
SAL-12X-RS8.8-
M12x1 10 RS8.8-10/GG 43-15367
14,8
9
_ S‘
= &
- § £
4 - X & &
T S =23
= <Q
5 g § 8§ §
o S -
£ 235 % &
§ 3 8 5 § &
Male connector, axial = 8 & 3 & = Description Part No.
@16
M12
|
[!]
== Width across 2o
o | flats 15 © 0~
7 sl 8 X 48 05 - - SAL-12X-RSC8-C/034 43-00418
= <]: ~
[ug
rﬂ $45-8,3
@16
—
_ £
g = < &
S = 5 2
S s S s
5§ o S £ 8
£ 5 8 ¢ 3
Female connector, installation height 7.2 mm 2 8§ & 38 & Description Part No.
@165
214
M12x1
Width across flats 15ﬂ ¢ o
Sealing 2= ~
Casi \ 5 8 X 48 05 ~  SAL12X-FK8.8-X7,2-12 43-01847
asing wall e o I o
oL 1 g
~
Width across flats14

286 CONEC® Technical information starting on page 348



B
-~ =
: 8 s S 5
Front panel mounting S s 2 2
S S = =
N = S S
S o S & B
T £ 3 ¢ 3
. S =S %) o
Insulation body SMT = 8 & 8 £ Description Part No.
28,25
Seali p Sealing
ealing surface [
\ -
= o
A IR 8 X 48 05 SALI2XIK8/SMT  43-02362
S
« 0,7 09
@0,75
PCB surface 210
o]
Female connector SMT, installation height 9 mm
Width across flats 18\ M12x1
TLIT 1
Ie==h
=
Sealing g * m[
J T 8 X 48 05 9 CALIZXFKEXY 4307757
— SMT
PCB surface 0,7 0,9
30,75
a10
M14x1
Female connector SMT, installation height 13 mm
Width across flats 18\ M1 2x1
TR T
&
Sealing o ©
. 8 X 48 05 13 SALIXFKEXIZ 307759
J SMT
PCB surface 0,7 09
0,75
@10
M14x1
P

Technical information starting on page 348

A\ T4

NEC® 287



T
- B
: 3 = T 5
Front panel mounting S E ? S
s g 8§ §
a S “— =
= ) = =
Insulation body THR 2 S8 & 3 £ Desription Part No.
28,25
Sealing surface\ fSeahng
e UL UUUL 8 X 48 0,5 SAL-12X-IK8/THR 43-02363
09 07 2| &
20,75
PCB surface 210
Female connector THR, installation height 9 mm
Width across flats 18\ M12x1
e—n\
Sealing g
[+2]
_T JUY 8 X 48 05 9 ?ﬁ;]ZX'FKB'XQ/ 43-02758
PCB surtace 0,7 09 o _
o
0,75
210
M14x1
Female connector THR, installation height 13 mm
Width across flats 18\ M12x1
S T )
Sealing y;{ o
II - 8 -
J IR 8 X 48 05 13 ?ﬁlﬁux FK8X13/ 43-02760
PCB surface 0,7 09 o v
oY —
30,75
a10
M14x1

288 CONEC® Technical information starting on page 348



—
O
_ =
g <
= = o
8 = X ~ s
s = 5 I35
S s £ § 8
5 § § 2 g
S S = S 9
2 &2 2 5 5 S
= = N —=
S 3§ 5 8¢
PVC, UL, green, Cat 5e Contact assignment = S & G O = Description Part No.
145
M12x1
F SAL125-RS8.23- )
i 03 RS8.23-03/CAl 4310998
1]
o 0
2 i (+Txj =RttE/OraNge 5
\ ? Nomongenss 7 L) 06 SALIZSRS823 .00
mn| bue ) « e
D {(+RX) = hite/ green feus) x
. ool -Me 8 A 30 1 ~
_ White/brown L <
T hrow ! SAL-125-RS8.23- )
e 1 i 15 RS8.23-1,5/GAl 43-17000
shielding coupling
2 |~ widtn across serew
Y flas 18
[ ‘
SAL-125-RS8.23-
iz } RS8.23-3/GAJ 4317001
8145
TPU, UL, green, Cat 5e
0145
M12x1
‘ SAL-125-RS8.23-
03 RS8.23-03/CAF 43717002
- (qxr-— hite/orange !';
<, R » SAL125-RS8.23
Vo Py o bohiteplue s -125-RS8.23- )
obue ! 06 . RSB23-06/GAF 43-17003
| (+RX) =1 hite/ green 5 ~
| ey 8 A 30 1 &
| _ white/brown | o :
—prow L SAL-125-RS8.23-
e L 169 RS8.23-1,5/GAF 4317004
shielding coupling '

SCTeW

49

Width across
flats 13

SALT25-RS8.23-
3 RS8.23-3/GAF 43-17005

Technical information starting on page 348 CONEC® 289



—
O
_ =
g
= = o
. g = I = S
Male connector RJ45 axial 3 = s ! g
i = E= ]
Male connector M12x1 axial S g 8 2 g
S & S & =2 8
2 S T ) e ©
§ 5§ &8 5 § &
PVC, UL green, Cat 5e Contactassignment = S & S S = Description Part No.
SAL455-RS8.31-125-
03 T Gl 4318411
RJ45 M12x1
'r:bgOCE;‘ SAL-455-RS8.31-12S-
| morange A L i
| sy L 06 msazopsca PR
:4__b\ue ‘ 7} ,:
e O B A 30T o
Iy o azeen Il >
om0 <
o X SAL-455-RS8.31-125- )
'ffbw_m_ji‘ 1 RS8.23-1,5/GAJ 4318413
x\ggl: ;cmss Tiousing 7 screw
‘ SAL455-RS8.31-125-
M12x1 -
s 3 RS8.23-3/GAJ 43-18414
TPU, UL, green, Cat 5e
SAL-455-RS8.31-125-
03 RS8.23-03/GAF 4318415
RJ45 Mi2x1
o SAL45S-RS831-125- .
I — i 06 A 4318416
|, _lwhitesargen [ <
P'boqﬂ i
_iblue : <
::__whlte/b\ue 1 :} 8 A 30 1 f;l(
b O x
! stanrgn . SAL45SRS8.31-125- -
opionn O 15 RS8.23-1,5/GAF 4318417
w b shielding couplin e
ﬂa\‘d;qgcross ousing 7 screw
SAL455-RS8.31-125-
izt | ’ RS8.23-3/ GAF 4318382
#1455

290 CONEC® Technical information starting on page 348




—
€)
— =
g = X = 3
kY = =
& Bfss
N S 8 2 4y
i=}
3 > & = Y IS
Q s o S ~ S
S 3§ 5 8¢
PVC, UL, grey Contact assignment = S & O O = Description Part No.
0145
P SAL-DN-12-RK5.3-2/ 4312508
GC
] \Width across
1) ~ SAL:DN-12-RK5.3-3/
3 flats 13 Pin 1 M8 (Schirm/shielding) 3 2 GC 43-12509
Pin 2 I (+) ~
Pin 3 HE () 5 A 60 4 +
- « Pin 4 L3 (CaN H) N
Pin 5 Bl (CANL) 5 X SAL-DN-12-RK5.3-5/ 4312510
#13,5 GC
D
10 é%(\:L-DN-TZ-RKSB-TO/ 4312571
TPU, UL, violet
2 SAL-DN-12-RK5.3-2/ 4312512
GJ
Width
< flats 15 3 m SALDNI2RKS33/ oo
¥ Pin 1 B (Schirm/shielding) r: Gl
Pin 2 M (+) ~
e Pin 3 I () 5 A 60 4 *
E!ﬂgE’(EANH)) 5 SAL-DN-12-RK5.3-5/
AN L - -12- <
W #135 o 5 &g : 4312514
D
10 SAL-DN-12-RK5.3-10/ 4312515
GJ
PVC, UL, grey
27
2 ZACL-DN—12-RKW5.3-2/ 4312516
= 0
=1 <
S
) SAL-DN-12-RKW5.3-3 /
© ﬂgm Width across pin 1 mm (schirm./shielding) 3 Y oC 43-12517
o flats 13 ' x
Pin 2 I (+) ~
© Pin 3 I () 5 A 60 4 +
= P?MD o) N SAL-DN-12-RKW5.3-5/
?13,5 Pin > . (cAn) N 2 927 4312518
D
10 SAL-DN-12-RKW5.3-10/ 4312519
GC
TPU, UL, violet
27
D) SAL-DN-12-RKW5.3-2 / 4312520
——= cl
0
== g1
Q
m  SAL-DN-12-RKW5.3-3/
@ QJE Width across Pin 1 Bl (Schirm/shielding) g ’: Gl 43-12521
o flats 13 Pin 2 N (+) i
o Pin 3 HI () 5 A 60 4 +
EngE (E:z [0 N SAL-DN-12-RKW5.3-5/
- #1355 oW ey 5 & g T 4302522
D
10 SGAJL-DN—12-RKW5.3-1O/ 4312523

Technical information starting on page 348 CONEC® 291



—
S
- =
g <
—~ —~ N
g = < 308
S = 5 i§
S S § s 3
s _EE R
S 2 § = S
ST F L § o
PVC, UL, grey Contact assignment = S & G S = Description Part No.
#145
M12x1 2 SAL-DN-12-RS5.3-2/ 4312500
GC
SAL-DN-12-RS5.3-3/
) 3 N 43-12501
2 }l‘\ggtqsacross Pin 1 B (Schirm/shielding) E GC
i Pin 2 I (+) N
Pin 3 I () 5 A 60 4 +
. Pin 4 T (CAN H) N
© Pin 5 I (CAN L) x _DN-12- d
| 5 X SAL-DN-12-RS5.3-5/ 43-12502
GC
_I @135
D
10 SAL-DN-12-RS5.3-10/ 4312503
GC
TPU, UL, violet
145
miza [ 2 A CPERPE
Lo SALDN-12-RS5.3-3/
‘ 3 m TR 43-12505
> Width across  Pin 1 Il (Schirm/shielding) r: GJ
~ % flats 13 Pin 2 I (+) ~
Pin 3 W () 5 A 60 4 +
Pin 4 CJ (CAN H) N
- Pin 5 I (CAN L) < _DN-12- d
© 5 % SALDN-12-RS53-5/ 4312506
A GJ
_| 1_(2513,5
D
I 10 SaL—DN-]Z—RSSB-]O/ 4312507

292 CONEC® Technical information starting on page 348



—
€
_ =
g <
— = =
8 = X = S
S = o 3
S s S5 s 3
5 £ 8§ 2 g
g 228 s S
S5 85§ ¢
PVC, UL, grey Contact assignment = S & S S = Description Part No.
SAL-DN-12-RK5.3-
03 RS5.3-0,3/GC 4312524
Width across
flats 13
SAL-DN-12-RK5.3-
06 ™ 43-12525
Pin 1 M (Schirm/shielding) 2 RS5.3-0,6/GC
Pin 2 HE (+) ~
Pin 3 I () 5 A 60 4 +
Pin 4 (CAN H) N
Pin 5 N (CANL) < SAL-DN-12-RK5.3-
15 Rs53,5/6GC 4312526
Width across
flats 13
L SAL-DN-12-RK5.3-
Mi12x1 3 RS5.3-3/GC 43-12527
0145
TPU, UL, violet
SAL-DN-12-RK5.3-
03 RS5.3-0,3/G) 4312528
Width across
= flats 13
SAL-DN-12-RK5.3-
m 43-12529
Pin 1 MM (Schirm/shielding) %e ’;‘< RS5.3-0,6/GJ
. Pin 2 I (+) ~
Pin 3 HE () 5 A 60 4 +
Pin 4 ] (CANH) N
Pin 5 I (CAN L) > SAL-DN-12-RK5.3-
o~ : -
. 19 RS5.3-1,5/GJ 4312530
N Width across
flats 13
SAL-DN-12-RK5.3-
M12x1 3 RS5.3-3/C) 43-12531
TPU, UL, violet
M12x1
Width across ¥
flats 19 SAL-DN-12-FKH5.3-
Seaing 05 RS5.3-0,5/C) 4301666
Width across T2
fiats 19 Mi6x1,5 ~
il
[ AR "
i o Pin 1 B (Schirm/shielding) 2
*T“ Pin 2 I (+) o~ _DN-12- -
! * pnmmQ 5 A 60 4 1 o+ CALDNIZFKHSI- 5566,
I Pin 4 CJ (CAN H) N RS5.3-1/GJ
Pin 5 I (CAN L) 3
o~
Width across 2
flats 13
SAL-DN-12-FKH5.3-
2 RS5.3-2/GJ 43-01668
1
Mi2x1
0145

Technical information starting on page 348 CONEC® 293



—_
€
— =
g <
— <=
g = X = s
S = 5 ' F
= s £ § 8
S £t § g
S 23 § > S
s 358
PVC, UL, grey Contact assignment = S & S S = Description Part No.
SAL-DN-12-RK5.3-
S 7/8-R$5.3-0,3/GC 4312532
Width across
flats 13
SAL-DN-12-RK5.3-
06 o 43-12533
Pin 1 B (Schirm/shielding) 2 7/8-RS5.3-0,6 /GC
Pin 2 M (+) ~
Pin 3 I () 5 A 60 4 +
Pin 4 (CAN H) N
Pin 5 Il (CAN L) > SAL-DN-12-RK5.3-
15 ™ JgRss3asscc 0 B34
[T : kS 3
i I AL-DN-12-RK5.3-
3 7/8-R$5.3-3/GC 4312535
TPU, UL, violet
SAL-DN-12-RK5.3-
S 7/8-R$5.3-0,3/G) 4312536
< Width across
< flats 13
SAL-DN-12-RK5.3-
1 b 43-12537
T, Pin 1 (schim,siing 06 R JgRsszoe/cs 123
. ; Pin 2 W (+) ~
I Pin 3 W () 5 A 60 4 +
= Pin 4 (CANH) N
Pin 5 I (CAN L) > SAL-DN-12-RK5.3-
| 4 o~ ° N
] \ ke 7/8RS5315/G) 4312538
3 { 8
@ SAL-DN-12-RK5.3-
I —— 3 7/8-RS53-3/C) 4312539
026
$ =
5 g
3 S
I
Terminating plug Contact assignment = o &2 Description Part No.
0145
M12xt
| | j ;o Shielding
MH%HJH ot
N\ width g 5 A 60 SAL-DN-12-RSA5.3 43-12642
il across CANH R
2 flats 13 4
g j;q 8

294 CONEC® Technical information starting on page 348



—
= =
g =
—~ s =
8 =< = 5
S T 2 . 1 8
o 2 E 8§ s %
S £ 2 8 23
S S » T § ©
S 25 § § 2T O
§ S 8 £ 8 2 8
Female connector, M16x1.5 thread Contactassignment = S & 3 = S = Description Part No.
M12x1
P
[
Width
ate 17 £ | o
0
&
Sealing "
‘/ﬁﬁ Pin 1 B (Schirm/shielding)
Pin 2 I (+) oy .
Pin 3 I () 5 A 60 4 2z < 24 SALDN-12-FK5.3-0,5 43-01367
Pin 4] (CANH)
o Pin 5 MMl (CAN L)
M16x1,5
Male connector, M16x1.5 thread
M12x1
%l
Width across o
flats 17 [=3
Ty v Y
Pin 1 M (Schirm/shielding)
s ([ TH | ims N .
Pin 3 I () 5 A 60 4 2 oS 24 SALDN-12-FS53-05 43-02527
Pin 4 1 (CAN H)
o | Pin 5 Il (CAN )
w0
< 1
M1éx1,5
Technical information starting on page 348 <O

NEC® 295

A\ T4




L[m]

—
€
I g
- s <
g =3I 25
S = & _ S 5
S 3 S 3 & 8
S £ 8 8 8§ g
S S « 8§ © 8
S 2 S & Y &
E S 8 L g ¢ &
Female connector, M16x1.5 thread Contactassignment = S &€ S = S S Description Part No.
Mi2x1
|
Width across !
flats 19 o
[ ] & Pin 1 M (Schirm/shielding)
B = = R Pin 2 . (1 SAL-DN-12-
L1 H Pin 3 W () 5 A 60 4 PVC 05 24 43-02246
Pin 4 CJ (CAN H) FKH5.3-0,5
5 Pin 5 Il (CAN L)
M16x1,5
Male connector, M16x1,5 thread
Mi2x1
Width across : ‘ X . .
flats 19 \“_/ 1 = Pin 1 M (Schirm/shielding)
! < & Pin 2 I (+) ANLTO.
- riﬁiﬁlﬁ Pin 3 I () 5 A 60 4 PVC 05 24 SALDN-12 43-01368
LT ; 1]t Pin 4 1 (CAN H) FSH5.3-0,5
‘: Pin 5 Il (CAN L)
- I
Mi6x1,5
Female connector, M16x1.5 thread, TPU, UL, violet
Mi2x1 SAL-DN-12-
| 0,5 43-01642
Width ]
wid 1;‘“055\% FKH5.3-0,5/C)
Sealing % @ §’
\J—I =
) T T T TTT 3 oM
m&tqscross ¥ Pin 1 B (schirm/shielding) >
i::é: E)) 5 A 60 4 1 G SALDNIZ 43-01643
P ) -
Pin 41 (CANH) N FKH53-1/C)
M16x1,5 Pin 5 Il (CAN L) =
V o~
)
SAL-DN-12-
2 FKH5.3-2/GJ 4301644
Male connector, M16x1.5 thread, TPU, UL, violet
SAL-DN-12-
M12x1 J
_ 05 FsH5305/) 4301645
Width across
flats 19 E%
Sealing r%ﬁ\'—:ﬁ - K;
T N o
. RN ~ Pin 1 M8 (Schirm/shielding) &
Width across i >
et e Fin () 5 A 60 4 % SALDN2: 43-01646
n g -
=| bin 4l (canH) o FSH5.3-1/G)
M16x1.,5 Pin 5 Il (CAN L) :
D
I
| SAL-DN-12-
2 FSH5.3-2/GJ 4301647

296 CONEC® Technical information starting on page 348



—
&)
_ _ =
- & <
8 = < 48
3 = o I g
— & § s S
S £ 8 2 g
§ £ 5§ = S
BEEEE
PVC, UL, grey Contact assignment = S & S O = Description Part No.
926
©14,05
SAL-DN-7/8-RK5.3-
5 RS5.3-5,/GC 41-01382
[ee]
\l::[ Pin 1 M (Schirm/shielding) ;
Pin 2 W (+) ~
. 0 Pin 3 I () 5 A 300 52 10 + OALDNT/ZBRKSS: 4 51363
: Pin 4 ] (CAN H) 2 RS5.3-10/GC
Pin 5 I (CAN L) <
~
[
@ SAL-DN-7/8-RK5.3-
. 20 RS5.3-20/GC 41-01384
7/8" - 16UN
026
Male connector axial
Q26
7/8" « 16UN
|
|
[T o Shitang
i} omt
8 am 5 A 24 SAL-DN-7/8-RSA5.3  41-01304
4mCANH .
N
$19
=
9
_ ~ §
§ S
—
g =< =8
S > 2 - 0 8
Q. W < S v
fy S 5 2 § @
_ S 8 8§ 8 & 3
~
2 o828 f s
§ 3 8 £ &g & 8
Male connector, M16x1.5 thread Contactassignment = S & 3 = = = Description Part No.
7/8" - UN16

Width across |
flats 27 \ T
I
Sealing i ; Pin 1 M8 (Schirm/shielding)
Pin 2 M (+)
. SAL-DN-7/8-
t Pin 3 W .
\% in’ . 5 A 300 10 PVC OS5 18 o0 41-40027

T Pin 4 1 (CAN H)
E H Pin 5 Il (CAN L)

26,5

Technical information starting on page 348 CONEC® 297



—
O
_ — =
ks = % 7S
S ) > S
§ £f%
o g = 5 a
N (<)) b - o
S £ ©®- § &~ S
i S 38 5 8 ¢
PVC violet Contact assignment = S & O O S Description Part No.
2145
‘ SAL-CN-125-
_ 2 RK4.41-2/GU 4314380
| —— Width across
flats 13
3 SAL-CN-125-
Pin 1 m < RK44I3/GU 4314381
o Pin2[] x
, | Pin3 4 A 60 4 N
J W_ al e 5 SALCNIS 4314382
o RK4.41-5/GU
SAL-CN-125-
L RK4.41-10/GU 4314383
PVC violet
@145
M2yt SAL-CN-125-
‘ Z RS4.41-2/GU 4314384
Width across
flats 13
SAL-CN-125-
¥ Pin 1 P < Rsad13/0U 4314385
Pin2[J =
- Pin 3 4 A 60 4 2
o Pin4J ~
SAL-CN-125-
J RS4.41-5/GU 4314386
D
SAL-CN-125-
i 10 RS4.41-10/GU 43-14387
PVC, UL, violet
@145
SAL-CN-125-RK4.41-
e RS4.41-0,3/GU 4314388
Width across
flats 13
SAL-CN-125-RK4.41-
06 RS4.41-0,6/GU 4314389
Pin 1 W 3
Pin2[1 =
Pin 3 4 A 60 4 ~
)t Pin4[ ~
SAL-CN-125-RK4.41-
‘—[g 1k RS4.41-15/GU 4314390
N % Width across
flats 13
SAL-CN-125-RK4.41-
__ M12x1 3 S5l 43-14391

298 CONEC® Technical information starting on page 348




—
T =
£ =
~ s =
] ] o 8 = = 5
Front panel mounting, Wire termination S S 25 " B
s § 83§ 3% 3
§55:5 6
§ S 8 §£ g e
Female connector, M16x1.5 thread Contactassignment = S & 3 S = = Description Part No.
M12x1
Width across — } o
flats 17 L - «
Seamg/fﬁ ° Pin 1 I
i 4 A 250 4 PVC 05 24 ?’K\zi%zs' 43-01703
Pin 41 B
M16x1,5
Male connector, M16x1.5 thread
M12x1
Width across : ©
flats 17 s
Sealing i ) Pin 1 i
l - 4 A 250 4 PVCOS 24 0% 4301704
Pin 4 ) '
M16x15
Back panel mounting, Wire termination
Female connector, M16x1.5 thread
M12x1
Width across flats 19
seal & Pin 1
ealing | Pin 2 SAL-CN-12-
T 1T 11 P 4 A 250 4 PVC 05 24 43-02347
i in 3 . FKH4.41-0,5
| Pin 41
. |
I
i
M1GIx1,5
Male connector, M16x1.5 thread
M12x1
Width across ‘
flats 19 \[ 2|
Sealing O Pin 1
Pin 23 SAL-CN-12-
NI —— i— 4 A 250 4 PVCO5 24 [oiic 43-02348
Pin 4]
M16x1,5

Mo Bonpocam npoaax 1 Noaaepxku obpallanTecs:

ApxaHrenbck (8182)63-90-72
AcrtaHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
Baprayn (3852)73-04-60

MBaHoBo (4932)77-34-06
WMxesck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuHrpaa (4012)72-03-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70

MypmaHck (8152)59-64-93
Hab6epexHble YenHbl (8552)20-53-41

MNepmb (342)205-81-47
Poctos-Ha-[loHy (863)308-18-15
PsizaHb (4912)46-61-64

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53

Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnagnsocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkatepuH6ypr (343)384-55-89

Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Tvnevuk (4742)52-20-81

HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocubupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
Capatos (845)249-38-78
CeBacronons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
Craspononsb (8652)20-65-13

EovHbii agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsHoBck (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93



